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Beam X

b - Width |3U cm
h - Depth |5|:| cm

[ Point+perpendicular
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Beam %]

b - width |1 i cm
b - Depth |3E cm
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Bean X

b - width IED cm
h - Depth |35 cm

[ Paint+perpendicular
[ Paint+middle

[T Continuous mode

1) i) el (e

(e el Ly Point+middle ¢ 5 jciwall 33 gall aw )} Continuous mode 38 380 6l 855 ) )l Y1 axaiiosi
c A 1 e sagale s an ) Pointeperpendicular ¢ Jas gl adads
LS ala¥) 00 ) shaiey Ly & Gl jealinll aaes ek é Switch to 3D view ¥ e bl

F Y IS A o

- 187 -

o LS Gl #) 8 S selad EltzE|Switchtodrawing)«5‘>!\ Gasb oz dan ) Lo sl W Sy LS

- Yo ._

A IS b e



